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SA B SABH) - KIRAY - BLS o &r o) 3 o HIDS2
INE-EEDN I 24,091,509 12,945,088 11,146,421
= 1,036,861 986,861 50,000
[as 484,180 484,180 0
= 3,334,113 1,414,259 1,919,854
Al 19,236,356 10,059,788 9,176,567
SHET =4 R 23 1,987,3% 1,625,3% 362,000
= 864,000 864,000 0
= 352,200 361,200 9,000
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& 352,200 361,200 9,000
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100,000,000 14 100,000 0 100,000
ARSI JI=SAF & RE RIHAS (D EFAL) 36,000 54,000 18,000
< 7,200 16,200 9,000
Al 28,800 37,800 9,000
307 2IZtol & 36,000 54,000 18,000
< 7,200 16,200 9,000
Al 28,800 37,800 9,000
02 QZHEMAIHE X 36,000 54,000 18,000
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g gXel ¥ NIA)
d& 36,000,000 14| 36,000 54,000 18,000
< 7,200 16,200 9,000
Al 28,800 37,800 9,000
CHEFAMER ERI0IE] HEFs2t ZEAY 300,000 20,000 280,000
CHefAREH B0 Yefs2t &Y 300,000 20,000 280,000
401 AlZHIL 2] 300,000 20,000 280,000
01 A€l 300,000 20,000 280,000
O3t 24 SAHI
280,000,000 * 14| 280,000 0 280,000
Ng Sat &g 54 7,732,860 2,310,960 5,421,900
LS 1,907,054 100,000 1,807,054
Al 5,825,806 2,210,960 3,614,846
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< 1,907,054 100,000 1,807,054
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Al 3,553,400 0 3,553,400
401 AlEHIZL 2] 4,451,800 0 4,451,800
S 1,780,720 0 1,780,720
Al 2,671,080 0 2,671,080
01 AlZHI 4,451,800 0 4,451,800
Oti&Z2s g=S8MAs ZAHBHH HS
4,451,800,000& *14] 4,451,800 0 4,451,800
(= 1,780,720 0 1,780,720
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02 QIEN 2 AL EZ(0IETHR) 882,320 0 882,320
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7,320,000 * 14 7,320 0 7,320
OtfatZs g=gargsat 233 25 AFY(
HIRRD) 2& X 875,000,000& 14 875,000 0 875,000
e TdolE X2AHY 87,780 0 87,780
= 26,334 0 26,334
Al 61,446 0 61,446
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== 26,334 0 26,334
Al 61,446 0 61,446
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02 QB AANGEE 321,000 81,000 240,000
O3 & +~=238= 23 XA
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Al 115,500 0 115,500
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= 22,500 0 22,500
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05 glt?(& = 66,666 60,654 6,012
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Ol=3SH 2dst 969,308 843,154 126,154
[ 343,700 308,900 34,800
Al 625,608 534,254 91,34
Ol=ssSH gdat 969,308 843,154 126,154
= 343,700 308,900 34,800
Al 625,608 534,254 91,34
Ol=sSH 243t 126,154 0 126,154
= 34,800 0 34,800
Al 91,3%4 0 91,354
201 fet= 3| 9,254 0 9,2%4
01 AtR2tc|HI 9,254 0 9,254
Oli=ssH 243 222 MH
5,000 #5052 #2304 A 5,750 0 5,750
OxSSSH 22 S2 WAl
8,000 x2F 12 x 12 2,304 0 2,304
Olt=SSH 2=AtdE M=
10,0002+ 120 1,200 0 1,200
202 04| 900 900
01 2LHA b 900 900
Ol A3& & MOIL &4 0l
150,000& 2 & *32 900 0 900
301 LtENZ 8,000 0 8,000
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< 2,400 2,400
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14 JIEI2 A3 8,000 8,000
Onts =M S2AY HEE XA (R
=02 CIXolH &sHl)
800,000& x1H 108 8,000 0 8,000
= 2,400 0 2,400
Al 5,600 0 5,600
307 212t01& 108,000 0 108,000
= 32,400 0 32,400
Al 75,600 0 75,600
02 QIZHLAIHE L 108,000 0 108,000
Oll2=SH 2SXFAE (= S2AHY)
85,000,000& *14! 85,000 0 85,000
[ 25,500 0 25,500
Al 59,500 59,500
o™= ss3sH NAG (= S2A
&) 23,000,000& * 14! 23,000 0 23,000
s 6,900 0 6,900
Al 16,100 0 16,100
M EZH 435t 1,179,638 1,047,638 132,000
= 147,643 97,643 50,000
= 484,180 484,180 0
= 139,056 124,056 15,000
Al 408,759 31,759 67,000
INCIRSEEEPSEop 1,179,638 1,047,638 132,000
= 147,643 97,643 50,000
= 484,180 484,180 0
= 139,056 124,056 15,000
Al 408,759 341,759 67,000
AR SH(LIRIEE KIF) 613,317 581,317 32,000
s 427,530 427,530 0
= 28,501 28,501 0
Al 157,286 125,286 32,000
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& 2,000,000&*13] 2,000 0 2,000
307 212t01 & 600,017 570,017 30,000
= 427,530 427,530 0
= 28,501 28,501 0
Al 143,986 113,986 30,000
04 QIZIHAIAIE E X 30,000 0 30,000
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M HAPAZH|(XSZHD)
Chel: J1=2 &l EER=E)
SA - BB C9I(B) - NIRAY - BES ol ko o 8 o HIRS2
Jl=3H| 107,628 9%,584 12,044
Jl22HI(XISZH D) 107,628 9%5,584 12,044
201 er23| 45,678 38,974 6,704
01 At2teltl 45,678 38,974 6,704
Oggt===H| 23,598 22,846 752
JIEMNRES 43 100,0003 238 2,300 2,100 200
—SALEX ZH 23,000 +22t A 128 6,072 5,520 552
O=gl 22,080 16,128 5,952
-XES200Al8]
ZH 8,000&x23E 103+ 122 22,080 16,128 5,952
202 Ot 55,200 50,400 4,800
01 =LH0d 55,200 50,400 4,800
OXSB N HRF2 20|
ZE 20,000&x23+103]«12& 55,200 50,400 4,800
203 HR2=&H] 6,750 6,210 540
M FA2SLRFAI 3,780 3,240 540
OXNSZ N EA2E =8|
ZE 350,000 %123 %90% 3,780 3,240 540




